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it by darkening corresponding O.

(c) Onpage 2 of Answer Sheet only the answers to questions are
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reading the entries made in the circles O with the Black ball-point
pen on page 1 and 2 of the Answer Sheet, hence the candidate
must be extremely careful in marking these entries and must not
commit errors.

4, Please do not write anything extra except what is asked for.
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HUTH forem Tl W1 WA HUTh Hr T
S.No. | Subject S.No. of Questions | Total Question
1. | @ @ e w (G.K. of MLP.) 01-25 25
2 =g it (Gen. Hindi) 26 - 50 25
3. wget 71 (Computer Knowledge) ‘ 51-90 40
4 Wi nfvra (Primary Maths) 91 - 100 10
= Total :- 100
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This question booklet contains 100 questions numbered from 1 to 100 and each questlon carry
1 mark. All questions are compulsory. There is no negative marking.
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Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and stated above and no repetition or omittion of questions is evident.
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If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15 minutes.
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Before answering the questions please read carefully the instructions printed on the back cover

page of the question booklet and strictly follow them. Indicate your answers by blacking
bubbles carefully only on the O.M.R. Answer Sheet provided.

forelt oft o a1 ShergpeieR, TR Wi AT el off SRR % a1 ST Sue wE Wi 2
3T =T 3T AT Fivta 2l

Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited.
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G.K. of M.P.
~ (Q.No. 01 to 25)

Which is the State Bird of Madhya | 1.
Pradesh?

(A) Peacock

(B) Pigeon

(C) Dudhraj

(D) None of these

How many recognised Scheduled 2.
Tribes are there in Madhya Pradesh?

(A) 50 recognised Scheduled Tribe
(B) 46 recognised Scheduled Tribe
(C) 43 recognised Scheduled Tribe
(D) 40 recognised Scheduled Tribe

Where is Roop Singh Stadium | 3.
situated in Madhya Pradesh?

(A) Bhopal
(B) Indore
(C) Gwalior
(D) Sagar

Where is Maulana Azad National | 4.
Institute of Technology is situated in?

(A) Indore
(B) Bhopal
(C) Sagar
(D) Hoshangabad

HY. Al AHA JAH
(ww. 01 & 25)

U TRV I TSA et B |r g ?
(A) WR

(B) he@

C) T~

(D) ¥ & w

ey wew °§ g et weew™
(Fagfr) = wnfeat & 2

(A) 50 ST

(B) 46 Wi

(C) 43 st

(D) 40 Srfa

wy Tig wefeaw weg yawr # =gl feom
2

(A) WU

(B) F=KR

(C) Tafera

(D) Emr

e ATeTg U shenfieht weas
gl T g ?

(A) 3RR

(B) ater

(C) \mWRr

(D) i

HGPOL/14
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How many districts are there in
Madhya Pradesh?

(A) 35 districts
(B) 350 districts
(C) 51 districts
(D) 49 districts

On which river of Madhya Pradesh is
“Ram Ghat” situated?

(A) Shipra River
(B) Narmada River
(C) Betwa River
(D) Sone River

Where is the high court of Madhya
Pradesh State situated?

(A) Jabalpur
(B) Indore
(C) Bhopal
(D) Sagar

Which is the ‘State Sport” of Madhya
Pradesh?

(A) Cricket
(B) Kabaddi
(C) Hockey
(D) Malkhamb

wea vt et # et fowey Rt 3 2
(A) 35 R
B) 50 ~=
©) 51w
D) 49 "=

‘o are’’ wew gaer 6w H A W
forag ? .

(A) g 7t
(B) T Y
(C) aaem &t
(D) €=

WeT YW USA &1 I ~ATYTAT
(Tr5w) el e 7

(A) SEAR

(B) 3=NR

(C) wursH

(D) 9™R

LT TW TR T “Tehia @A i
wroR?

(A) Tereme

(B) wad

(C) Rt

(D) "HEE™

HGPOL/14
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9. Where was ‘Atal Bihari Vajapayee | 9. sreer forg®t ardeit Sft @1 = gt
born? geam ot ?
(A) Bhopal (A) =
(B) Gwalior (B) Tarfer
(C) Sagar (C) WWR
(D) Ujjain (D) I
10. Which of the following tribes is not | 10. =& & & ot SRy weag v it
from Madhya Pradesh? T2 ?
(A) Jaunsari (A) SiaETh
(B) Gond (B) Tire
(C) Korku (©) W
(D) Bheel (D) &
11. Where is National Law Institute ‘| 11, W @ =g ghafid =gl fm
University situated? 37 ' '
(A) Ujjain (A) I
(B) Bhopal (B) wwrer
(C) Gwalior (C) ferR
(D) Hoshangabad (D) RwrmETE
12. Where is Holkar Cricket Stadium | 12, gt frdhe Ritan wgi @ & ?
situated?
(A) =R
(A) Indore
(B) watferR
(B) Gwalior
(C) At
(C) Bhopal
D) Y
(D) Rewa D) T
HGPOL./14 -5- Set- A




N
.

From where the ‘Sindhi’ newspaper
‘Farz’ is published?

(A) Gwalior .
(B) Bhopal
(C) Sagar

(D) Ujjain

Which Stgtte lies to the west of
Madhya Pra\desh?

(A) Rajastﬂah
(B) Maharashtra
(C) Gujarat

(D) Chattisgarh

Which is the longest river in Madhya
Pradesh?

(A) Narmada River
(B) Ganga River
(C) Sone River

(D) Betwa River

The famous singer Lata Mangeshkar
was born in which place?

(A) Khandwa
(B) Indore
(C) Jabalpur
(D) Sagar

13.

14.

15.

16.

Relt orEEr ‘@t w7t | yerE g
27?

(A) TaferER

(B) WUt

(C) =|mRr

(D) T

WYY W & ufgay hl 01 &I 91

T T ?
(A) TeTEA
(B) wgrty

(C) T
(D) wdwTR

nmﬁm‘wvm”raﬁqﬁ%
? ,

(A) wg @

(B) ey

(©) W R

(D) saaT 7t

g iR e Tt et e 7
(A) wusar

(B) =R

(C) waerqR
(D) |wR

HGPOL/14 -6-°
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17. Where is the headquarter of West
Central Railway Zone situated?

(A) Jabalpur

(B) Bhopal

(C) Hoshangabad
(D) Indore

18. Who was First Governor of Madhya
Pradesh?

(A) Shri Pattabhi Sitaramaiya
(B) Pandit Ravi Shankar Shukla
(C) Shankar Dayal Sharma

(D) Kunji Lal Dubey

19. What is the literacy rate of Madhya
Pradesh as per the census of 20117

(A) 70.60 %
(B) 76.60 %
(C) 73.80 %
(D) 79.10 %

20. Where is Devi Ahilyabai Holkar
Airport situated in Madhya Pradesh?

17. ufvawm S W& A & geaed
gl feora § 7

(A) eIy
(B) wuTe
(C) rerTETg
(D) 3=R

18. W. . & WeH TSAUTH A & ?
(A) it agewsr dardar
(B) W. Tfereie yoFet
(C) vie Tt v
(D) Ffierer 3o

19. wWea wegt ST EIRRar SR, 2011 | ?
(A) 70.60%
(B) 76.60%
(C) 73.80%
(D) 79.10%

20. < AfRFTATETS FreTe TEUIE HeAudyT
T gl fm g 7

(A) Bhopal (A) wrarer
)(B) Indore (B) 'sﬁl'{
(C) Gwalior © R
(D) Sagar D) =R
HGPOL/14 -7- Set- A




21.

22,

23.

24.

25.

According, to;area Madhya Pradesh
State stands on which place in India?

(A) First
(B) Second
(C) Third
(D) Fourth

The “Tawa” is the tributary of which
river

(A) Narmada River

(B) Tapti River

(C) Sone River

(D) Shipra River

Vidharbha Region, which is now a
part of Maharashtra State was part of
which State in past?

(A) Madhya Pradesh
(B) Uttar Pradesh
(C) Bihar

(D) Uttarakhand

‘King Bhoja’ was a
(A) Parmara king
(B) Chalukya king
(C) Chandella king
(D) Muslim king

Which Indian leader was not born in
Madhya Pradesh?

(A) Chandrashekhar Azad

(B) B.R. Ambedkar

(C) Shankar Dayal Sharma

(D) Mohan Das Karmchand Gandhi

21.

22,

23.

24,

25.

AT oh YR W HET T TSH o
91 ° T G e R 7

(A) ugen

(B) &
(C) e
(D) =itenm

a7y TR ot W wgEw T 7
(A) =it Tt
(B) et 75t
(C) & =&t
(D) forom

Ry &= i &6 o wEww wew W
g e, v R s wrwwr e 7
(A) wex gaw

(B) SR W_W

(C) Tergw

(D) ITEUE

TS WIS Uk

(A) TR TS A
(B) =TI T &
(C) =g T &
(D) wafem T &

Tad ¥ fore Jar @1 s wesw wew o
TR ?

(A) TFEIRER AW

(B) ft. IR, =g

(C) VTeRt gaTer yrat

(D) wEA W wwaeg el

HGPOL./14
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26.

27.

28.

29.

= fi=h
(a. &. 26 & 50)

T T GG qT -\ F 7

(A) T ALATIH ATH TET ATEM |
(B) FHW eI AT T AT |
(C) TR HeqUH AT TE g |
(D) TR HEATYH AT T AT |

‘R alg TRIET 39 ETaR <ht T avef
2?

(A) IRl AR =lg TR

(B) waRhRY art

(C) =R =ig I

(D) INHT G

HH—WT A VG 7 ?
(A) A ORI S AT |
(B) ® g HFT o7 |
(C) ¥ gud g o |
(D) W W& T o |

EaiCHCICR R o
(A) s =gg W § |

30.

31.

32.

33.

I AT RIT-WT § ?

(A) & A0 wmw et € |
(B) # wl wm wwar g |
(C) ¥ 1Y =T &hTH YT § |

(D) # o7uaT W v g |

“firear’ =t fareirmeles visg wiA-AT R ?
(A) 3Em
(B) geren
(C) fe@ran

(D) v

‘g’ @1 UFTETe 958 WA-A1 g ?
(A) Toren
(B) =
(C) =R
(D) ey

‘S W B ST AT g 39 T S
g7 |
(A) wirsaeTuft

(B) 3TTST YR T § | B) siwahd

(C) 3t it T R | ©) warfrdt

(D) TSt rfares TR R | (D) WA Al
HGPOL/14 -13- Set- A




‘T w AT TE gEeT g = R ?

34, 39. “‘ger dre I A WIElt I qA W
(A) wuTs weft ser TE | qH e’ ag uttw er wfa Rt g 2
(C) w=T 3T A8 ¢ |
(D) =Y =t o0 Y STy T | ®) g
(C) &g vmi
35. ‘m’ﬁiﬁ?—'{:ﬁgﬁ%? (D) Il{l%'éﬁa'qi
(A) 7ot
B) <
(C) =u 40. ﬁuﬁawaﬁw—mmwﬁ?‘
(@) o (A) W & T
36, “sregan’ & wh Rredg w1 wdt feramew (B) #em St
Waﬁ | © 3oT
(A) + YT o
(B) g + 37 (D)
(C) g+ 3uH
(D) @i + 3w M. FEAF-A R AR ?
37, ‘Tewisr vreg = Wi fRredg fifm | (A) g
(A) T&w + oy (B) weR
(B) fom + =iy ©) @
(C) f&w + aniy
(D) faiwr + 3 (D)
38, ‘forEat’ frar @ SiA-Ht weameEs g3 ‘. ,
a2 7 42, ‘g & @RET HA F ?
(A) foran (A) enfefie st
(B) fersit (B) fmaw
(C) form
D) Fra (C)‘ SR
(D) Teig agE
. HGPOL/14 -14- Set- A




43. srehforan veg wT N - WET R | 47, T @ wiw—en o R s 2 7

ez a ?
EEARE L (A) ="
(A) wuTeHT
(B) dgem™n
(B) g™t
(C) Bm™m
(C) w™TCHT
D) ===
(D) udweHT
; 48. ‘TH w1 agEAd w1 R ?
44. T | Y T ST 9E HA-AT R ?
- (A)
A) ufrE qEgT
' (B) &
(B) wf®
C
© s (C) st
D
D) whve D) =

49. ‘qwe @ agaed ?
45, TH A IA-W K TAYL S ? e

(A) st ®) g%
(B) st ®) et
© st (C) guah
(D) whate D) gt

50. et oI g@ W 3 A Wt

46. ‘wiX st fermmar @ ? A T 3 -

A) wfaReh
(A) (A) T I G W R |
B) wafEh
®) (B) wieRtgT o<t Qg W 2 |
C) wfamEt
© (C) et o GR W 2 |
(D) =wafafx

(D) Htett oIt QI W |
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Computer Knowledge
(Q.No. 51 to 90)

BIOS ;s_tan'd for ?

(A) Bootstrap initial operating
system -

(B) Bésic input output start-up

© Béot initial operating start-up

(D) Basic input output system

What type of connector is used to
plug a telephone line into a modem?

(A) COMI
(B) RJ-45
(C) RIJ-11
(D) RJ-10

What are the four basic functions of
a computer system?

(A) Input, processing, production
and. storage

(B) Keyboard, display, memory and
disk drive

(C) Word processing, spreadsheets,
database and contact
management

(D) Read, write, calculate and
display

51.

52.

53.

HIET T
(3. ®. 51 ¥ 90)

BIOS T Haed 2
(A) TqeEdU URfdeh srrwfen fieew

(B) aftrw Tqe ereye IHA
(C) de IRfYeh uftenes yoermd

(D) aftes 3y srSeye Rreew

T YRR h SH-eFel Rl Weh WIgH | Teh
TR M @I & % Terg wam
frar s g ?

(A) COMI
(B) st 45
(C) am=t 11
(D) &St 10

T Ut WUTEt % WR givard @
FTE ?

(A) 3G, ST, I ol Herun

(B) whiare, weyH, Wid iR fewr gea

(C) = wrafa, Wevile, TeEy i
HUH e

(D) ue, TormaT, oMt SR wevH

HGPOL/14
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_______memory has the shortest | 54, wrf w98, w0 A we
access time. (Access time)\v%z ] .
(A) Cache (A) %W (Cache)
(B) Virtual (B) ST (Virtual)
(C) Secondary (C) wreafirs (Secondary)
(D) External (D) =@ (External)
55. Which is different from another? 55, ®iF 9l {{ﬁﬁ T '% ?
(A) Android w e
(B) Ubantu ®) sz
(C) Windows (C) fE=
(D) Linux D) frea
56. In computing, _________ that | 56, wegfew &, Gﬁrrﬁna R
perf01.rms .arithmetic a.nd lqgical TR wTiETS AT § 30 U T aiR
;)(?geircasgﬁs(i I(‘:;l;f:d an arlthmetlc' and &% TS (ALU) st S % l
(A) Electronic circuit (A) Sﬁ?ﬁﬁ%ﬁ Hithe
(B) Empirical circuit (B) smwasT Hiche
(C) Electronic analog circuit © TG IJTET ‘Tﬁ’?
(D) Digital circuit (D) ffRea atke - o
57. DVD stands for 57. N =1 q;raa% |
(A) Data Versatile Disk (A) st agg@ﬁ 1%-;;5 o
(B) Double Video Disk (B) s« dfifeat foww
(C) Digital Versatile Disk C) feres aﬁas-a%w
(D) Disk Video Digital (D) Tew difeat el .
HGPOL/14 -21- Set-A




6.

Operating Systems,
Debuggers comes under

Editors,

(A) System software
(B) Application software
(C) Utilities software

(D) Development software

When you copy a shared folder in
Windows 2003 server,

(A) The original folder is not shared
anymore, but the copy is shared

(B) The original folder as well as the
copy is shared

(C) The original shared folder is still
shared, but the copy is not
shared

(D) The original shared folder and
the copy both are not shared
anymore '

You reject someone’s proposal to use
file-based databases. Which of the
following are the disadvantages of
such databases?

(A) Data repetition, separation,
independency and files
compatibility.

(B) Data repetition, separation,
dependency and files
compatibility.

(C) Data repetition, separation,
dependency and files
incompatibility.

(D) Data repetition, separation,
independency and files
incompatibility.

58.

59.

60.

& qgd AT

(A) Trew giweaR

(B) UfceTshyr (STTSERT) ATFearR
(C) Su=ARmET "Wiveaar

(D) TaegHeZ EiFeaa

== welt 2003 ¥ 9" 39 T Wi
WeR B wd g, a9 _ |

(A) & TieR oia R |rem T8 g,
AT wid wren |

(B) T Wiest R widl, g |re
2

(C) I WS Wiest A ot | ¢,
AR St T T E |

(D) ¥e HIEAT Wieel S widY, I
AT IR AT T |

AT WIS ATHTRA ST &1 ITIT
T o fore foRet & weme sreliar
A 2 | W S o o a1 FmfaRaa

TJHRAAE ?

(A) e g, S, AT SR
wIEEAl 6 SFHET |

B) st gyt e, Fa ik
WISl T IR |

(C) =rer g, Sar, fvwar i
wIgEl kT IrETta

(D) ¥ gAnEfy, a8, st ofk
WAL S T |

HGPOL/14
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61.

62.

63.

In the world of SQL relational
database, the data type for
‘VARCHAR' is :

(A) Fixed length string of n

characters

(B) Variable length string up to n

characters

(C) Floating point number of p bits

precision
(D) 16-bit signed integer

Which of the following elements are
the valid components of ACID in a

‘relational database transaction?

(A) Atomicity, Consider-ability,
Isolation and Durability

(B) Atomicity, Consider-ability,
Independence and
Development

(C) Atomicity, Consider-ability,

Isolation and Development

(D)

Atomicity, Consistency,
Isolation and Durability

Which of the following is NOT a type
of computer hard drive?

(A) SCSI
(B) FDD
©
D)

IDE
EIDE

61.

62.

63.

SQL f@vre 32e® ®, 'VARCHAR'
& foe TR R

(A) n it it Fifdm o & g
(B) newit aes Sfvgaret wvang <t feg

(C) p e T & wenfen urge e

(D) 16 fore wrgas yuiiw

Tk FEAvAe seed o=eT § ACID &%
A gewt Ao @ AefeiRaaaa § 7

qeATurET, feram @ e,
FeE IR Rawau=

THTorET, foem WA Y e,
AT A Tererr

TRETULAT, TR & it er,
A AR forermm

(A)

(B)

©)

(D) uwwTpar, feemar, sremma sk

Rw=ua .

TR i TS 139 1 Tk TR e
VR ATTH R ?

(A) T €t g| g
(B) TwE A
©) &g
(D) amis
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64,

65.
+-multiple duplicates of values are
- retrieved. What keyword can he use

. Which of the.following are not valid

CREATE statements in the DDL?
(A) CREATESCHEMA

(B) CREATETABLE

(C) CREATECOLUMN

(D) CREATEINDEX

User runs a SELECT statement, and

to retrieve only the non-duplicate
data?

(A) DUPLICATE
(B) INDIVIDUAL
(C) SEPARATE
(D) DISTINCT

64.

65.

e W 8w a Sidiva (DDL) ®Rene

e A 2 Y

(A) CREATESCHEMA
(B) CREATETABLE
(C) CREATE COLUMN
(D) CREATEINDEX

SuavTeRat SELECT ®eve w1 3uaim
e § ot o gfrine e T A
F ) = d @ o w e Faw R
giterene Fer wTw i o forg suaT @
T § ? .

(A) gwithe (DUPLICATE)

(B) wfwmma (INDIVIDUAL)

(C) 3w (SEPARATE)

(D) 9o (DISTINCT)

66.| The relational database environment | 66. WererTer Tera ararerur § FrerfoRaw
has all of the following components F1 BrEe g9 9TH ¢ |
except :
(A) IuTEHAT
(A) Users
(B) Separate files (B) 3
(C) Database (©) srerE™
(D) Query languages (D) A T
67. design and implement | 67. TEE G @ fEnga
database structures. R e EE |
(A) Programmers (A) TUTR
(B) Project managers (B) Uttt vaes
(C) Technical writers (C) Tl oI
(D) Database administrators (D) STeTsd WvIEE
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68.

69.

70.

71.

One way to 'secure data for
transmission over a network is to

(A) Validate the data

(B) Encrypt the data

(C) Decrypt the data
(D) Archive the data

E-mail addresses separate the user
name from the ISP using the
symbol.

(A) &
(B) @
© %
D) *

Unsolicited commercial email is
commonly known as

(A) Plagiarism
(B) Hoaxes
(C) Spam
(D) Hypertext

A message with replies on a
newsgroup is often called a

68. THh ATah W TEWUW & fory o1 =i
gtfmmﬁ%%nwﬂm%
(A) 22T weEaT |
(B) s ufwRe
(C) Tz fefre
(D) et Eug

69. v, S—irer et & st
T 9 (Username) a:n-ngﬁ (ISP) |
AT AT 2 |

(A) &
(B) @
©) %
D) *

e

70. DA AT $HET &1 AHRIG:
% FT H AT AT R

(A) wfefers <
(B) =rewT

(C) wm

(D) TFWIHZ

71. wwmm%w:@%ﬁ

T |
(A) Post A) »
(B) List ®) 'Q\iﬂ
(C) Thread © ¥
(D) Comment D) s
HGPOL/14 -25- . Set-A




A word in a web page that, when
clicked, opens another document is a
called

(A) Anchor
(B) URL

(©) Hyperlink
(D) Reference

is the first part of a complete
URL which is needed to access the
web resource.

(A) Domain Name
(B) Domain Address
(C) Location Domain

(D) Protocol

. The default file extension for an

Microsoft Word 2007/2010 file is

(A) RTF
(B) DOCX
(C) DOC
(D) TXT

. Which of the following query type is

best suitable to analyse data?
(A) Cross tab Queries

(B) Parameter Queries

(C) Action Queries

(D) None of above

72.

73.

74.

75.

T 99 A ¥ Uk vIeg i A et
Toren e 2, 9 U SR g gera
TWM_ w@iwwrE |

(A) T

(B) JamTH

(©) Tt

(D) wad

__ UH YU gHRUSA & ugen
ewar 3 ekt 9o waes w0 suam
FH & o st gt 2 |

(A) =n= 3w

(B) S/ Ut

(©) M WA

(D) WA

AIEHETERE a8 2007/2010 wge & fou
Rewiee wige waadyH 2

(A) smATh
(B) 3@t
(C) Hand
D) AwmA

1 g o o Wl Wt =@ T *
farswor &t % fore wed sugw @ 2
(A) i T FAOA

(B) Umfter a=disr

(C) et (Thm) =i

(D) FW ¥ | &g A&

HGPOL/14
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76. For the <# 1/1/144# validation rule | 76. wEHiwive vaaw ¥ wraar Fraw
Tv,ettin.g, what is the corresponding text <#1/1/144# % Tore, aegedt T T g ?
in Microsoft Access? :

1114 9 =9
(A) Enter a value less or more than (A) 1.1 ® R kSl &t
G 1)
1114
(B) Value must be less than 1114 (B) e 1114 HeRi & HH &1 AT
characters <fge
(C) Enter a date before 2014 (C) 2014 % uger wah fomian o=t
(D) All of above (D) IwH G

77. Which of the folloWing exceptoneis | 77. WIZHET TR @@ W i & &
a type of Microsoft Access database T B BIEH HH T aAfsrae § ?
object? )

(A) Queries (&) =
(B) Workbooks (B) W
(C) Forms (C) wm
(D) Tables (D) =ed

78. What is the first step in creating a | 78, wni fagnd ar fud faend & @ ww
form or report with the form wizard w1 RS ST ugen wew FE Y ?
or report wizard? )
(A) Selecting the fields that you (A) wwaATR iliﬁuaﬁha?ﬁ%ﬁwq

want to appear in the form or ITSH T =aH |
report .
(B) siafifga 2aer w1 @ &1 woA
(B) Selecting the underlying table or Rra wr stvenfa @it o e Jaw
query on which you want to base yS
the form or report gl
(C) Reading several screens of (C) UEIR SHR AHHR & H3 BhA
mostly useless information and YT IR AT Tkt T |
clicking next
(D) Selectinghow the § (D) & ar faid aew hEr g
electing how the torm or report fru g TET HET
should be formatted &4 !
HGPOL/14  -27- Set- A
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79.

80.

You can auto fit the width of
column in Microsoft Excel by using

(A) Double clicking on the column
name on column header

(B) Double click on the cell
pointer in worksheet

(C) Double clicking on column
right border on column header

(D) Double clicking on the column
left border of column header

Suppose cell Al : A4 contain the
following property values for four
homes 1,00,000, 2,00,000,
3,00,000, 4,00,000 respectively. Cell
B1 : B4 contain the following sales
commissions on each of the
corresponding property values:
7,000, 14,000, 21,000, 28,000. Then
value of SUMIF (Al A4,
">160000", B1 : B4) equals

(A) 63,000
(B) 70,000
(C) NA

(D) 7,000

79.

80.

Y WTZHITTEE Trdel U e
IUGRT Tleh Td: HicTH ehl TISTE The
R TR g |

(A) AT T W HAH I U TqA
et =T |

(B) wehviie ® 6ot Yoreh W garet foreren
HF |

(C) hIeTH ¥ U hicW <kl a3 HHT
W eI ToFeTer ek |

(D) HIeTH TS W TN hT 73 dwy
W TTA ToreTeh &1 |

T #HRm, e Al:A4 § 9R 90 %
fore fraferfaa wuft & wear @ wow:
1,00,000, 2,00,000, 3,00,000,
4,00,000; & B1:B4 wggwdl @ufuw
el o & gw w Fefalaa fash
wHtyE e ® s 7,000, 14,000,
21,000, 28,000; fort SUMIF (A1 : A4,
"> 160000", B1 : B4) *
TR AT 2 |

(A) 63,000
(B) 70,000
(©€) NA

(D) 7000
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81.

82.

Following function = VLOOKUP(A7,
Blocks!A$2:1$144,7), In Microsoft
excel, refers to :

(A) Compares the value of A7 with
Blocks of cells A2:1144 and
returns  the value of
corresponding seventh cell in
the G column

(B) Compares the value of A7 with
- Blocks of cells. A2:1144 and
returns the value of
corresponding cell in the G
column. '

(C) Compares the value of A7 with
range of cells A2:1144 in
worksheet named “Blocks™ and
returns the value of
corresponding cell of matched
row and G column.

(D) None of these

What is the smallest and largest font
size available in the font size tool on
formatting toolbar?

(A) 6&72
B) 8&72
©) 6&64
D) 8&64

In Microsoft Word, what does Ctrl +
= effect?

(A) Subscript
(B) All caps
(C) Superscript
(D) Shadow

81.

82.

83.

FrafeRaa weremr = VLOOKUP(A7,
Blocks!A$2:1$144,7), WTsHIHIEE
THRAEH, ......... T HEHd TR |

(A) A7 Tea &t gert A2:1144 &
T se1ieh W &A1 g R S wier
ASTEI AT Ul HAA AR |

(B) A7 Hra &Y et A2:1144 &
U STl W T 2 IR ST e
H ASTEYT BT T A AT R |

(C) A7 geg & gort “Blocks”
< amet § A2:1144 W& I |/ ean
2 iR Aer g ufvw ot S wicw
T Tuged Vel T A AT § |

(D) ¥ & &g e

GG gaaR W Wi RATEHR gl A
SUCTS, Had B IR q=d T8 Wi
HT AR FATE ?

(A) 6&72

(B) 8&72

(C©) 6&64

(D) 8 3R 64

ATEhEeE a8 |, Ctrl + TS g ?
(A) wafgre
(B) =t hew
(€) grfere

(D) BwET

HGPOL/14 = -29-




84. Portrait and Landscape are related to | 84. drée 3iR dewhu Tgata g |
o (A) AT
(A) Page size ®

. (B) Page layout B) gz
(C) Page orientation | ©) 9B 3"'“’; e
(D) None of these (D) 9 & &g &

85. __option is used in Microsoft | gs, frereu ATTEETER e A
Powerpoint allows to create a T R e 3 Wi Rt s e
package of your presentation for v 5 N e
showing to another computer. = N, %({E : Q: :;%;NW '
(A) Export A) i
(B) Save & Go (B) ﬂa FENREN
(C) Pack & Go ©) & st
(D) Web & Do D) FmeiRg

86. The sound becomes a part of an | gg. W el T IUANT W qfe
animation effect, if sound effects are waf W S W § Ay eafy oiive
‘added using the task pane. |

YU 1 Ueh et s S |
(A) Slide Transition ' A) .
(B) Custom Animation (B) weew whviwe
(C) Slide Design (C) wss fawms
(D) Clip Art D) foeTd ot

87. Which of the following will not | g7 TATEE 91 3@ & G 30 o 0F |
advance the slides in a slide show TeTSE rfn T B ?
view? )

(A) The Esc key (A) Esc ﬁ

(B) The Enter key (B) Enter Fft

(C) The spacebar key (€) Spacebar Tﬁ

(D) The mouse button (D) wsa s
HGPOL/ 14 -30-
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88. An important feature of basic disk is :

89.

90.

to enable user to
(A) Combine
partition

Create fault-tolerant disks

(B)
©

volumes per disk

(D)

Which printer permission allows a

user to alter spooler settings?
(A) Default

(B) Print Vie;1v

(C) Manage Printers

(D) Printer Properties

Which of the following item retains

the information when the power to the

system is turned off?
(A) CPU
(B) ROM
(C©) RAM

(D) DRAM

non-contiguous |
unallocated space into one

Configure unlimited number of

Set aside space to arrange data

88.

89.

90.

giard fewe & o wgeaqut faewar
g ? T ag swanreat @ *
oo wew @ R

g T wriuey ) aArafed g @t
TH T  uelE W R

g wfgwy fetw smmen |
wfe feen sredifira dean & aieqra
Y HR T |

3T I SATEIA H & ToTg wTE
W T TWE A R |

(A)

(B)
(®)

(D)

Ueh SUARTRdl i H1F €t e v
TR Afew @ wger & forg stgmfa
TR ?

(A) Tewiee
(B) fire =g

| (C) =t firex

(D) T wiwdts

o et | wT &t I 2 @
frefeRem sngen guT SRR
27

(A) ¥y

B) T (ROM)
(©) W (RAM)
(D) €iw (DRAM)
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Space for Rough Work / 3% &1 & for&r snrg
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Primary Maths
(Q.No. 91 to 100)

Three cylinders each of height 16 cm
“and radius of base 4 cm are placed on

a plane so that each cylinder touches
‘(vertically) the other two cylinders.
Then the volume of the region
~ enclosed between the three cylinders
incm?is :

(A) 128 2\3-7)
B) 128 (33-7)
© %8 -1

D) 98 (3J3-7)

The 300 digit number with all digits
equal to 1 is :

(A) not divisible by 37 and 101
(B) divisible by 37 but not by 101
(C) divisible by 101 but not by 37

&

(D) divisible by both 37 and 101

91.

92.

wrfww wfia
(w. %. 91 & 100)

o Se T ures 6t 3= 16 cm
q AR i Bt 4 om § Seater v

ER W@ T 2 e Ao v @

AT T HEAT T | A IS qe"
s T &7 sraaw (S W) §

(A) 128 (2\3-1)

L 4

(B) 128 3\3-7)
©) 98 23-1)

D) 98 (33 -1m)

300 arent foF T wwan Rres weft o
1%,

(A) 377t 101 & fawrea 78 2 |
(B) 37% fawra ¥ aifee 101 & 7 |
© 101&%&:@%%&:37@r=rﬁl

(D) 37aer 101 ST & fawrsa § |
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93.

9.

95.

s
In a village, Py of the population are

1
adults, -2~ of the adults are male, '5— of

adult females are literate. If 400 adult

females are illiterate, then the
population of the village is :

(A) 2000
(B) 1800
(©) 1600
(D) 6400

A candidate needs 36% marks to pass |

an examination. He obtained 28%
marks and declared failed by 6 marks,
then the total marks is :

(A) 50
B) 70
< 75
(D) 80

The difference between compound

and simple interest on a certain sum

of money for 3 years at the rate 10%
p.a.is Rs. 15.50, the sum of money is:

(A) Rs. 400
(B) Rs.500
(C) Rs. 700
(D) Rs. 1000

93.

9.

95.

s i, s a2 i

%,aaw’iw%aimgw%,am
, |

wigertsnt =1 3 1 9T gterEt 2 |

afe 400 wrerew whemd oMUz § W@ M

HIEETE o

(A) 2000

(B) 1800

(C) 1600
(D) 6400

v fremeft @t when F sefol @Y %
fo1e 36% 31k I wE & | 36 28%
& U fed qur 6 st | sl
aifve @ T e, @ guite #:

(A) 50
B) 70
< 75
(D) 80

forelt o= & 3 =d @1 10% Y =i
W WHTg AT ATRUT ST ol A
1550®. grar e @ ¢

(A) 400 .
(B) 500 ®.
(©) 700 %.
(D) 1000 ®.
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The present population of a village is
9261. If the annual birth rate is 8.5%
and annual death rate 1s 3.5%, then the
population of village 3 years ago was

(A) 8000
(B) 8500
(C) 8750

(D) 7500

A man sells a book at a profit of 20%.
If he had bought it at 20% less and
sold it for Rs. 18 less, he would have
gained 25%, the cost price of book is:

96.

97.

Tt e Y aduT SEEaT 9261 2 |
afe sffes e 8.5% ¥ o anfiew
g W 3.5% &, a1 39 gd Ta Hl
mﬁ:

(A) 8000
(B) 8500
(€) 8750

(D) 7500

e safw forelt e &t 20% o |
qar 2 | e 98 39 20% W 9 @ledn
qAqT I 18 ®. A § "ed W I 25%

T TITH BraT 8, 1 J&aes 1 oNId el

(A) Rs. 120 2
B) Rs. 100 (A) 120%.
(B) 100 ®.
(C) Rs. 80
C) 80F.
(D) Rs. 90 D) %,
98. The value of o8 (.013)34_(.007)3
: 2 2
(013)° + (007)? ) (.0013)% = (.0013)(.0007) + (.0007)
(.0013)? = (.0013)(.0007) + (.0007)* = A D
(A) .02 (A) .02
(B) 2 B) .2
<) 2 ©) 2
(D) 20 (D) 20
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99. The two sequences of numbers {1,4, | 99, wwawai (1,4, 16,64,.......} a9 (3, 12,
16, 64, ....... } and {3, 12, 48, 192, ........ } 48.192. ........ } &,— a} 31355“‘1' & 'Hg?ﬁ
are mixed as follows : {1, 3, 4, 12, 16, (1,3, 4, 12, 16, 48, 64, 192
48, 64, 192, ........ }. One of the 3 %’ C T ,ﬁ, L7
numbers in the mixed sequence is | } & WgW® Sigshe A .
1048576, then the number 1048576 3 Tt gk AIehTioren G WG
immediately preceding it is : T
(A) 262144 (A) 262144
(B) 786432 (B) 786432
(C) 786516 (C) 786516
(D) 814572 (D) 814572

100. A string of length 12 inches is bent | 100. 12 ¥ &= T&H AR 6l Uz TH ?:rl’r
first into a square PQRS and then into PQRS # WIgr WTar § deug=rd & &
a right angled triangle PQT by PQ w flR @ gd v wwaior frgw
keeping the side PQ of square fixed, PQT % & i et smar , & &t PQRS
:l;en the area of square PQRS equals =1 8 3.

(A) Area of triangle PQT (A) s PQT % e
.3

3 = (Fryw e
(B) Z (Area of triangle PQT) (B) 4 ( PQT & )
(C) 2 (Area of triangle PQT) (C) 2 (Fgw PQT & gren)

3 gl 3
(D) (Area of triangle PQT) @) 7 (Rt PQT & gereer)
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Space for Rough Work / T% &Td & fer& wmrg
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INSTRUCTIONS REGARDING METHOD Tt R SR A T ¥
OF ANSWERING QUESTIONS
. (Tt Black ball-point U T ST &)
(Please use Black ball-point Pen) 5
1. STSA &I :
zflethod of Markti'ng Arllswerz : ) SR HRA i, T S
0 answer a question, please darken one TR
bubble out of the given four, in the OMR S 6 e fod e o T
Answer Sheet against that question. Tﬁ‘mmﬁﬁﬂl
2. YeaisET g :
Valuation Procedure : N . iy
There are four alternative answers to a ™ “W AR W%’ @3?1(
question, only one of them is correct. One TE R | W oA G I 3ok F A Teh ek
mark will be awarded for each correct 16 &P | e Tk @ S8 Mt 1t TR S 8
Znsger, cilf fmore than tfme b'ltlbbl.(lil a;e @ =& T SR e afane ) v w5 ua
arkened for a question, it will be . .
presumed that the candidate does not know ST N LSRR R G I
the correct answer hence, no mark shall 3. I s I S Ee "
be awarded. 5
IR e A @+ & R s s =
Cancellation or Change in Answer : W TR i & 19 ) sea |@va =& g |
tI)t will nottl;le possiblci 1to change the ma;ked 37 T HT AT IE & Téf e I IWFT
ubble with black ball-point pen; therefore, Fiaede =t
correct answer should be carefully chosen = =
before marking it on OMR Answer Sheet. 4, I Aeres & o
Handing over of Answer Sheet to (i) Eﬁ&‘ﬁ' b1 Fieefie Hiv %@'gie'ﬁ o
Invigilator : o o 3w 3fie & A ml | wh
(i) Please ensure that all entries in the ‘I\ﬁ?ﬁ S -, UA TR, FEER,
answer sheet are filled up properly i.e. g}zq-gﬁ?am *1 TR, 3Tfe Rt
Name., Roll No., Signatures, WA | JAH-3% W ™ §)
Question Booklet No. etc.
(i) CANDIDATES ARE PERMITTED TO (i) e ST e <y e gferepr v
CARRY AWAY THE QUESTION 1Y S Y 3t 2 |
BOOKLET WITH THEM AFTER THE . '
EXAMINATION. 5. IS IUAT§ araur
Care in Handling the Answer Sheet: ) ! A T T&w & A
While us: T | 39 HA, IS 1 Helale IS ¥ @UF A
ile using answer sheet adequate care . .
should be taken not to tear or spoil due to B < T it st I J T e 6 WE
folds or wrinkles and the impression does Wﬁﬁ%mmm%lﬁ@
not come behind the Answer sheet. o1 3 e o1 |
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